MARKING SCHEME BSEH PRACTICE PAPER 2, 10™ MATHS(BASIC) ,

March2025
(ENGLISH MEDIUM)

Expected solutions

marks

Section-A

(d)60

(d)more than 3

(¢ )(x+2)(x-1)=x2-2x-3

(c )3 units

(a)-12

(a) 50°

(d) 55°

b

0) =

(a)60°

(b) 10v2

11

(d)3

12

(a)z

13

Irrational number

14

119 cm

15

tan® =ab

16

1

2

17

L cm? or 49 cm?
2 4

18

False

19

(a)Both Assertion(A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion(A).

20

(b) Both Assertion(A) and Reason (R) are true but Reason (R) is the not
correct explanation of Assertion(A).

SECTION-B

21.
(a)

x/2+2y/3=-1

1/2
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When the equation (iii) is substituted in (i) we get,
3x—-12=-6

3x=6

x=2

Hence,x=2,y=-3

1/2

1/2

1/2

21.
(b)

Using the property of a rectangle,
We know that,

Lengths are equal,

i.e.,, CD=AB

Hence, x + 3y = 13 ...(i)

Breadths are equal,
i.e., AD=BC
Hence, 3x +y =7 ...(ii)

On multiplying Eq. (ii) by 3 and then subtracting Eq. (i),
We get,

8x=8

So,x=1

On substituting x = 1 in Eq. (i),

We get,

y=4

Therefore, the required values of x and y are 1 and 4, respectively.

1/2

1/2

1/2

1/2

22.

Let (— 4, 6)divide AB internally in the ratio k : 1.
Using the section formula, we get
3 —6 —8 +10




So,—4 =
+
1 1/2

—4k-4=3k-6

7k =2

,k:1=2:7 1/2
We can check for the y-coordinate also.
So, the point (— 4, 6) divides the line segment joining the points A(— 6, 10) and
B(3,—8)intheratio2:7.

23. E
0>
C
D
In APBC and APDE,
£ BPC = ZEPD [vertically opposite angles]
PB/PD=5/10=% ... (i) 1
PC/PE =6/12 = % ... (ii)
From equation (i) and (ii),
We get,
PB/PD = PC/PE
Since, ZBPC of APBC = ZEPD of APDE and the sides including these. 1/2
Then, by SAS similarity criteria
1/2
APBC ~ APDE
24. | We know that,




(b)

cos 60°=1/2

sec30°=2/v3

tan45° =1 1/2
sin30°=1/2
cos 30° =v3/2
Now, substitute the values in the given problem, we get
(5c0s%60° + 4sec?30° — tan245°)/(sin? 30° + cos? 30°) 1/2
= {5(1/2)2+4(2/v3)%-1}/(1/2)*+(v3/2)?
= (5/4+16/3-1)/(1/4+3/4) 1/2
={(15+64-12)/12}/(4/4)
1/2
=67/12
%:)' 1+sinA
LHS = . =
1-sinA
+ 1+
- 1 < 1/2
1- 1+
1+sinA
- 1/2
1-sin2 A
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= 1/2
VcosZ A /
_ 1+sinA
"~ cosA 1/2
= secA +tanA = RHS
25.
. . . . . 1/2
Area swept by the minute hand in 60 minutes = Area of the circle with
radius equal to the length of the minute hand = nr?
Area swept by minute hand in 1 minute = tr?/60 1/2
Thus, area swept by minute hand in 5 minutes = (rtr?/60) x 5 = tr/12 12
[ Length of the minute hand (r) = 14 cm]
=1/12 x 22/7 x 14 x 14 cm?
1/2

=154/3 cm?

SECTION-C




26.

Prove that V2 is irrational.

Solution:
Let, if possible,v/2 be a rational no.

P

V2 = a, where p and g are co-prime integers and q# 0.

2 divides p?2 2 divides p also.

From (ii) and (iii)
202 =4m?
q2= 2m2
2 divides g*> 2 divides q also.

From (i) and (iv) , p and g have 2 as common factor.
p and g are not co-prime.

Hence our supposition is wrong.
V2 is anirrational number.

1/2

1/2

1/2

1/2

1/2

1/2

27.

6x%2-3-7x=6x%*-7x-3=0
= 6x2+2x-9x-3=0




=2x(3x+1)-3(3x+1)=0
=(2x-3)(3x+1)=0
Zeros =3/2,-1/3

aB=c/a=(3/2)(-1/3)=-1/2=-3/6=c/a
Hence proved.

28.

(a)

Let Rahul’s age be x years and his son’s age be y years.

Five years hence(later),
x+5=3(y+5)

=x+5=3y+15

Also, five years ago(before),
x-5=7(y-5)

= x-5 = 7y — 35

Subtracting equation (2) from (1),

X-3y -x+7y =10+ 30
("."eq.(2) changes its sign)

1/2

1/2

1/2

1/2




Puty=10in eq. (1),

x-3(10) =10
=x-30=10

Thus, present age of Rahul=x=40 years and

present age of Rahul's son=y=10 years.

1/2

1/2

28.
(b)

Let the larger angle = x

Smaller angle =y

As both angles are supplementary,
x+y=180

= x=180-vy.... (i)

Difference is 18 degrees.
So,x-y=18
=x=18+y.... (i)

Substituting the value of x in equation (i) we get,
= 18+y=180-vy

= -y-y=18-180

= -2y =-162

= y=-162/-2

= y=81

Substituting the value of y in equation (i), we get,
= x=180-81=99

1/2

1/2

1/2




Hence, the angles are 99° and 81°.

1/2

29. | We know that the distance between the two points is given
by the Distance Formula = /(Xo—X1)2 +(Y2—Yy1)®> By 12
substituting the values of points P (2, - 3) and Q (10, y) in the distance
formula, we get
PQ= J(2-10)2+ (=3 — )2 =10
1/2
PQ=\/(— 82+ (B + ) =10
Squaring on both sides, we get
64 + (y +3)% = 100 1/2
(y +3)* =36
y+3=+36 1/2
y+3=16
y+3=6ory+3=-6
Therefore, y = 3 or - 9 are the possible values fory. 1
30. | Given, cos A+cos?A=1
(a)
cosA=1-cos*A 1
cos A =sin? A [ sin?A=1-cos?A]
........................... (i)
1/2




= (sin2A + (cos A)?) [using (i)]

1
= sin%A + cos?A 1/2
=1 = RHS
30. | LHS=(sinA+cosecA)?+(cosA+secA)?
(b)

1/2
=sin?A+cosec?A+2sinAcosecA+cos?A+sec?A+2cosAsecA
=sin2A+cos?A+cosec?A+sec?A+2sinAx1/sinA+2cosAx1/cosA 1

[ cosecA=1/sinA and secA=1/cosA ]
=1+cosec?A+sec?A+2+2
[ sin2A+cos2A=1] 1/2
=5+(1+cot?A)+(1+tan?A)
[ 1+tan2A=sec2A and 1+cot2A=cosec?A ] 1

=7+tan?A+cot?A= RHS




31. C
a5° 1/2
D
1.5n 15 m
B 28.5 m E

Given the height of the observer be DE=1.5m

ThatisAB=1.5m

Let BC = h is the height of the chimney

Hence AC=(h—-1.5)m 1/2

Given the distance between the observer and the chimney

isAD=BE=28.5m

In right ACAD,0=45°

1

tan 45°=AC/AD

=1=(h-1.5)/28.5

=28.5=h-1.5 1

=h=28.5+1.5=30m

Thus the height of the chimney is 30 m.

SECTION-D

32. | Given, 1
(@) | 2nd term, a, =14

3rd term, as= 18




Common difference, d=az-a,=18-14=4

We know that nth term of an APis,a, =a+(n-1)d

ax=a+d
14=a+4
a=10 1
Sum of n terms of AP is given by S, =n/2[2a+(n-1)d] 1
Ss1=51/2 [2x 10 + (51 - 1) 4] 1

= 51/2 [20 + 50 x 4]
= 51/2 x 220

=51x110
= 5610 1
32.
(b) | nth termof an AP a, =a+(n-1)d 1/2

Let a be the first term and d the common difference.

According to the question, as =16 and a;-as =12

a+(3-1)d=16 1
a+2d=16........ (1)

Using a;-as =12
[@+(7-1)d]-[a+(5-1)d] =12

[a+6d]-[a+4d] =12 1%
2d =12
d=6

By substituting this in equation (1), we obtain
a+2x6=16




a+12=16

=4 1
Therefore, A.P.willbe4,4+6,4+2x6,4+3x%6, ... 1
Hence, the sequence will be 4, 10, 16, 22, ...

33.

(a)

Statement:Basic Proportionality Theorem
Prove that if a line is drawn parallel to one side of a triangle ,the other two .
sides are divided in the same ratio.
1/2
1/2
— 1/2
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Construction : Draw EM 1L AB and DN L AC. Join B to E and C to D

Proof: In AADE and ABDE

—X X )
———— = (i)
In AADE and ACDE
—X X .
——— = — e (i)
Since, DE||BC [Given]
ar(ABDE) = ar(ACDE) -----=---===——m - (111)

[As on the same base and between the same parallel sides are equal in

area]

1/2

1/2

1/2

1/2
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From eq. (1), (i1) and (ii1)

L —=— Hence proved. 1/2
33.
(b)
1/2
Given, AABC ~ APQR
= ZABC = ZPQR (corresponding angles) --------- (1) 1
= AB/PQ = BC/QR (corresponding sides)
= AB/PQ = (BC/2) / (QR/2) 1
= AB/PQ = BD/QM (D and M are mid-points of BC and QR) ------------ (2)
In AABD and APQM,
ZABD = ZPQM (from 1) L
AB/PQ = BD/QM (from 2) 15
= AABD ~ APQM (SAS criterion)
1

= AB/PQ = BD/QM = AD/PM (corresponding sides)
= AB/PQ = AD/PM
Hence proved.
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34,
(a)

05cm

1.4 cm

Depth of each conical depression, hy=1.4 cm
Radius of each conical depression, r=0.5 cm
Dimensions of the cuboid are 15 cm x 10 cm x 3.5 ¢cm

Volume of wood in the entire pen stand = volume of the wooden
cuboid - 4 x volume of the conical depression

=525 cm3 -1.47 cm3
=523.53 cm>
3

The volume of wood in the entire stand is 523.53 cm"”.

34.
(b)

The total surface area of the cube
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=GX(edge)2=6><SXS cm?=150 cm?.

The surface area of the block = Total Surface Area of cube - base area
of hemisphere + Curved Surface Area of hemisphere

=150-mtr2+2mr?

=(150+nr2) cm?,

=150 cm2+(22/7x4.2/2x4.2/2) cm?

=(150+13.86) cm?

35.

(a)

=163.86 cm?
class interval class-mark (X;) Number of fix;
children(f; )

11-13 12 7 84

13-15 14 6 84

15-17 16 9 144

17-19 18 13 234

19-21 20 f 20f

21-23 22 5 110

23-25 24 4 96

fi =44+f fiX;=752+20f

1+1
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_ 752+20f
A4+

18(44+f) =752+20f

792 +18f = 752+ 20f

f=20

Hence, missing frequency f =20

1/2

1/2

1/2

1/2

35.
(b)

Number of Cars Frequency
0-10 7
10-20 14
20-30 13
30-40 12
40-50 20
50-60 11
60-70 15
70-80 8

From the table, it can be observed that the maximum class frequency is 20,

belonging to class interval 40 - 50
Therefore, modal class = 40 - 50

Class size, h=10

Lower limit of modal class, | = 40

Frequency of modal class, f; = 20

Frequency of class preceding modal class, fo = 12
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Frequency of class succeeding the modal class, f, =11

= 40 + [8/(40 - 23)] x 10
=40 + (8/17) x 10
= 40 + 4.705

=44.705
=447
Hence, the mode is 44.7

1/2

1/2

Section - E

36.

Distance

(i) Time= Speed

(ii)Let the usual speed of plane be x km/h
New increased speed of plane= (x + 250)km/h
Total distance=1500 km

According to question
1500 _ 1500 1

+250 2

1500( +250)—1500 1
( +250) -2

1500x + 375000 — 1500x 1

X(x + 250) 2
X2 +250 x = 750000

X2 +250 x - 750000=0

1/2

1/2




(iii)(a) X% +250 x - 750000=0
X2 +1000x - 750x- 750000=0
X(x+1000)-750(x +1000)=0
(x+1000)(x-750)=0

X=-1000 or x = 750
Reject x=-1000, because speed cannot be negative.
Hence,usual speed of plane is 750km/h.

(iii)(b) X% +250 x - 750000=0
X2 +1000x - 750x- 750000=0
X(x+1000)-750(x +1000)=0
(x+1000)(x-750)=0

X=-1000 or x =750
Reject x=-1000, because speed cannot be negative.
Hence,new speed of plane is x+250= 750+250=1000km/h.

37.

(i) Since,radius at a point of contact is perpendicular to tangent.
By Pythagoras theorem, we have
PA=vV 2+ 2=V122+52=/169=13cm

(i11)(a) By Pythagoras theorem, we have
BQ=TQ2+TQ>=V32+42=/25=5cm




(iii) (b) PK= PA + AK = 13+ 5= 18 cm

XY =XK +KY=10+8 =18 cm

38.

(i) Total no. of fish in the aquarium = 13+18+12+11=54
Number of male fish in the aquarium = 36
Number of female fish in the aquarium =54- 36 =18
no. of favourable outcomes

total no. of possible outcomes B

So,probability of selecting a female fish=

18 1

54 3

(ii)The  probability of selecting a flowerhorn fish=
no. of favourable outcomes 1_8 _1

total no. of possible outcomes 54 3

(iii) (a) The probability of selecting a koi fish
no. of favourable outcomes 1_2 2

“total no. of possible outcomes 54 9

no. of favourable outcomes 13
total no. of possible outcomes 54

P(selecting a guppy fish) =




(iii) (b)Total no. of angel fish and flowerhorn fish= 18 +11 =29

P (selecting either angel fish or flowerhorn fish)= T2

P (selecting neither angel fish nor flowerhorn fish) =

=1- P (selecting either angel fish or flowerhorn fish)
29 25

T 54 54
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Expected solutions

marks

gus-&

(d)60

(d) 3 ¥ arfd=

(¢ )(x+2)(x-1)=x2-2x-3

(c)3 THE

(a)-12

(a) 50°

(d) 55°

Ohvary

(a)60°

10

(b) 10v2°

11

(d)3

12

(a)z

13

AT wEr

14

119 cm

15

tan@ =ab

16

1

2

17

Ll cm? or 49 cm?
2 4

18

38T

19

(a) AFSPTA (A) 3R d& (R) g&f T g 3R dF (R), AFeaa (A)
fr TE TEIT AT gl
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20

(b) AfFRYA (A) 3R d& (R) a&r T § IR T (R), JAFT(A)
fr T cgrEar TE g

21.
(a)

x/2+2y/3=-1

5y =-15

ST TR (jii) T (i) § Wi G st £ 91 2 ) T e e,
3x—12=-6

3x=6

X=2

Ad;,x=2,y=-3

1/2

1/2

1/2

1/2

21.
(b)

T ST o 07 HT START Fd g,
LSRR

i.e,CD=AB

Hence, x + 3y = 13 ...(i)

i.e., AD = BC
Ad:, 3x+y=7..(ii)

1/2

1/2

1/2




THFOT(i) § x = 1 T@T 1T,

ZH e e,

y=4

THTAT, x 3T y o AT AT HHM: 14 8

1/2

22.

HTA AT (- 4, 6) AB T ST &9 H k: 1 % T0Td | ferArirg wear gl
fQeTsta T T ST Fd g0, g8 fRorar &

3 —6 —8 +10
(—4,6)=( +1 ° +1 )

—4k-4=3k-6
7k =2
,k:1=2:7

ZH y-TAderr T df = 2 7oA 2|
o, [95 (- 4, 6), FT A(- 6, 10)3iT &g B(3, - 8)
&1 [T aTer TETET &y 2:7 % AquTq | i war g |

1/2

1/2

23.

APBC 3T APDE ¥,
£BPC = ZEPD [RfeaE ior]
PB/PD=5/10=1% ... (i)

PC/PE = 6/12 = % ... (ii)

TR (i) 3 (i) 7,




gH foear e,
PB/PD = PC/PE F&ifh,APBC &I ZBPC= APDE
T o FAEAC &

SAS HHAEUAT FHAEET garT
APBC ~ APDE

& ZEPD JUT 3o giFEATad

1/2

1/2

24.
(b)

& Jed & %
cos 60°=1/2

sec30°=2/v3
tan45° =1
sin30°=1/2

cos 30° =v3/2

W A @ QU T 99 H Wl W
(5c0s%60° + 4sec?30° — tan245°)/(sin? 30° + cos? 30°)

= {5(1/2)%+4(2/v3)?-1}/(1/2)?+(v3/2)?

= (5/4+16/3-1)/(1/4+3/4)

={(15+64-12)/12}/(4/4)

=67/12

1/2

1/2

1/2

1/2

24,
(a)

1+sinA
1-sinA

LHS =
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1/2

_ 1+sinA 1/2
1—sin2 A

_ 1+sinA 1/2
Vcos2 A

_ 1+sinA 1/2
COsA

= secA +tanA = RHS

25 | forre i 2 g 60 fiee ® a e an Serer e Y g i g

& TOEL FAT AT I &7 SAFA=ur2 1/2

A fr g2 grar 1 f9\e & a7 AT @ &3 = nr?/60 1/2

o, e & g2 g 5 AFe § a7 S @ @9 = (nr?/60) x 5= | 1)

nr?/12




V2 tE st s R |

=1/12 x 22/7 x 14 x 14 cm? 1/2
=154/3 cm?
Qus T
26. | {17 AfSre,afy w@erg @ ar V2 v ufe wer | -
P -
V2 = a,aﬂpﬁh q @e 3msd quiies § aur q# 0. 1/2
02
2=?
P2 =2 0% o, (i) 12
2, p’H Reniod Rar g 2, p A o [anfog a=ar & |
AT P = 2M, e, (i) ST&T m &1 quiie & |
P2 =AM (iii)
1/2
(i) 3iR(iii) &
29°=4m2
q2=2m2
2, g% e sar & 2, g off [anfog war ¢ | 1/2
(o I o (iv)
(ii) 3R (iv) &, p 3R q F1 38rafss TUrTEs 2
p 3R q "e-3177sT oifeh AL §
3T §FRY Fodell  ITeAd & 1/2




27. | 6x*-3-7x=6x2-7x-3=0
= 6x2+2x-9x-3=0
=2x(3x+1)-3(3x+1)=0 1
=(2x-3)(3x+1)=0
I, B= 3/2,-1/3

aB=c/a=(3/2)(-1/3)=-1/2=-3/6=c/a
7 T gam

28. | g 38 Trger v ey x A B 37 SEeh o T Ay A /)

(a). 1/2

I 99 972 (7S H),
x+5=3(y+5)

=x+5=3y+15
1/2

ATT &, T4 97 A (T8 A),
x-5=7(y-5)

1/2
= x-5=7y—35

THTFOT (2) 3T (1) | =S 9T,
X-3y -x+7y =10+ 30




(. FHTROT(2) FT g Feaar g)

THIHRT(1) § y = 10 T@F 92

x -3(10) = 10
=x-30=10

3TT: T ol AqHTT 3MY=x=40 TT 3T

T o T il AqHTT g=y=10 a9,

1/2

1/2

1/2

28.
(b)

HiAlT sl «nlYl =X
E1E) ﬁ'UT=y

= AT 0T G 3,
x+y=180
= x=180-vy.... (i)

THIHLIT (i) | x 7 19 L@ 9L gH Hear g,
= 18+y=180-vy

=-y-y=18-180

= -2y =-162

= y= -162/-2

=y=81

1/2

1/2




THIHRLOT (i) | y T 19 T@ I, gH HoAar &,

1/2
x =180-81=99
THTCT, 0T 99° ¥ 81° 1/2
Blgg sma § OF @4 g F fm fr @D, @& W@
=2 =x1)? +(V2—y1)? FTAAT g i
T T H TP (2, - 3) #iT Q (10, y) & AT &l TAEATHT Tl T,
28 Werar g
PQ= /(2 — 102+ (—3— )2 =10 1/2
PQ=/(— 82+ (B + )2 =10
ST TTH a9 e 9, gH Aaar @ 1/2
64 + (y +3)2 = 100
(y+3)2=36
y+3= 36 12
y+3=16
y+3=63ar y+3=-6 1
AT, y = 3T - 9, y o forw g9riad a1 2|
30. |fear §: cosA+cos?A=1
(a)
cosA=1-cos?A 1

cos A =sin? A [ sin?A=1-cos?A]




1/2
LHS= (sin? A + sin* A) = (sin?A + (sin%A)?)
= (sin2A + (cos A)?) [(i)&T 3U=aT T )] 1
= sinA + cos?A 1/2
=1 = RHS

30. | LHS=(sinA+cosecA)?+(cosA+secA)?
(b)

1/2
=sin?A+cosec*A+2sinAcosecA+cos?A+sec*A+2cosAsecA
=sin?A+cos?A+cosec?A+sec?A+2sinAx1/sinA+2cosAx1/cosA 1

[ cosecA=1/sinA and secA=1/cosA ]
=1+cosec?A+sec?A+2+2
[ sin2A+cos2A=1] 1/2
=5+(1+cot?A)+(1+tan?A)
[ 1+tan2A=sec?A and 1+cot2A=cosec?A ] 1
=7+tan?A+cot?A= RHS




31.

C
45¢
D
1.5m 1.8m
B 285 m E
eI i HATs DE=1.5HEX T2 ¢

AB=DE=1.5m
HTAT BC = h Pt £t S8 2
3@ AC=(h-1.5)m

Sefeh Sl f=rEeT & o= &l g1 AD = BE = 28.5 Hle< &

gaFor ACAD & ,0=45°
tan 45°=AC/AD
=1=(h-1.5)/28.5

=28.5=h-1.5
=>h=28.5+1.5=30m

qq: AT T SATS 30 HieT Bl

1/2

1/2




| = g

wq_d a, =14
d’T 96 a3= 18
g 3R d=az-a,=18-14=4

&H SIeid & T AP &T nal 9 gl &: a, =a+(n-1)d
a;=a+d

14=a+4

a=10

AP & n Y&l &l J9Tho 8T ¢ S, =n/2[2a+(n-1)d]

=51/2 [20 + 50 x 4]
=51/2 x 220
=51x110

=5610

32.
(b)

AP &T nal ug glar &: a, =a+(n-1)d
STEl a WU UE duT d I 3R g &

ET%HQ:B—]@FIT,a3=163*ﬁT az-as =12
a+(3-1)d=16

a7-a5=12<‘=Fr‘5crq’|?TW?T§tr
[@+(7-1)d]-[a+(5-1)d] =12

1/2




[a+6d]-[a+4d] =12
2d =12

H FHIOT (1) H WA WgH Ied glar ¢ : a+2x6=16
a+12=16

a=4 1
37T:37TASs AP 8l 14,4 +6,4+2%x6,4+3x%6, ...
@ 4,10, 16, 22, ... 1
33.
(a)
FIT: ATITIT FHTTATIAHRAT T
g fifse & afk e B it v $oi % aamiee o T i 9,
T 3T Y T4 AT AT | FeviSa 2y =i 2 '
1/2
1/2
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{eAT: EMLAB dar DNLAC @ifRul B& E 3 dur C & D

q Aemsy |

JHIUT: AADE a1 ABDE #

.". (ABDE) & &A% = (ACDE)&T 8T RA  --nmmmmmmmmmmmmmmmmmmmemeee (iii)
[ T 2T LT I¢ 3T T & qUIHIGE oI0sh o6 a= aet Brqsit &7

SAHA TEL gIdl 8]

1/2

1/2

1/2

1/2

1/2
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C—= T2T g T vl 1/2
33.
(b) o
1/2
B D C

fear & © AABC ~ APQR
= ZABC = £ZPQR (HId HIT) --------- (1) 1
= AB/PQ = BC/QR (H3T 3TSiTT)

= AB/PQ=(BC/2)/(QR/2)

= AB/PQ=BD/QM ( D3iR M BCTUIQR & #HEY faig &) -----mmm- (2)

AABD daT APQM #H,

ZABD = ZPQM ((1)& )

AB/PQ = BD/QM ((2)¥ ) 2
= AABD ~ APQM (SAS &I EarT )

= AB/PQ = BD/QM = AD/PM (HaTd $[TT ) 1
= AB/PQ = AD/PM
T8 Rigy e o7 |
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34,
(a)

05cm

1.4 cm

el STEHTRTT T3 ol T22Ts, hy =1.4 T
el STETRTE g a0l 151941, r = 0.5 THT
FATH T ATIATH 15 THT x 10 AT x 3.5 9HT

ol AT

=525cm? - 1.47 cm®
=523.53 cm’
¥ ¥ H AHIT FT AIAT 523.53 cmg|

34.
(b)

o FT FA IS ATHA
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=GX(813|T)2=6><5><5 cm?=150 cm?.

SATH T TS &I = T T A TSI &AHA - TATE T SATETT TR
+ AT T T35 TSI ATHA

=150—Ttr2+21tr2

=(150+nr2) cm?,

=150 cm2+(22/7x4.2/2x4.2/2) cm?

=(150+13.86) cm?

=163.86 cm?
35.
(@) || @ -3cRTT It -Rwg(x) a5t ¥ FE ) fixi
11-13 12 7 84
13-15 14 6 84
15-17 16 9 144
17-19 18 13 234
1+1
19-21 20 f 20f
21-23 22 5 110
23-25 24 4 96
f, =44+f fiXj=752+20f
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_ 752+20f
A4+

18(44+f) =752+20f

792 +18f = 752+ 20f

1/2

1/2

1/2

1/2

35.
(b)

FRY T FEAT TRERAT
0-10 7
10-20 14
20-30 13
30-40 12
40-50 20
50-60 11
60-70 15
70-80 8
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TgAH A ° Tgol a1l avf shiaraar, fo =12
TgAH A 6 AT ATl a¥f ahf arardr, f; =11

= 40 + [8/(40 - 23)] x 10
=40 + (8/17) x 10
= 40 + 4.705

=44.705
=447

3Ad: EIW44.7

1/2

1/2

36.

Al

) FEg=——
(i) ey

(if)wT=T ForwTer ¥ | i x FRHT/Eer g
o Y 7 72t g2 7 = (x + 250) FFe/ET
T gL=1500 Treft

T o AT
1500 B 1500

¥ 250

1500( +250) —1500 1

( +250) 2

1500x + 375000 — 1500x _ 1
X(x + 250) -2
X% +250 x = 750000

1/2




X% +250 x - 750000=0

1/2

(iii)(a) X2 +250 x - 750000=0
X2 +1000x - 750x- 750000=0
X(x+1000)-750(x +1000)=0
(x+1000)(x-750)=0

X=-1000 3ryar x =750
x=-1000 T FEATHTT HL, FAT{eh T FITHT A5l Bl TR T|
a1, feraTer &Y AT T 750 FRHT/==T 21

(iii)(b) X% +250 x - 750000=0
X2 +1000x - 750x- 750000=0
X(x+1000)-750(x +1000)=0
(x+1000)(x-750)=0

X=-1000 3r¥ar x =750
x=-1000 T FEATHTL L, FAT{eh T FITTHE A5l BT TR T|
T, ToHT Y 7% T x+250= 750+250=1000 To{T/=eT 2|

37.

(i) =fo, d9e fog o2 s el var & deaq gt 2

QI HHA o
PA=vV 2+ 2=V122+52=/169=13cm

(ii)ST9 T I AT T F T4 Fd ¢ af Ueh IHIAS Tq@T G+l o7
NI

(ifi)(a) ATSARRT THT &
BQ=TQ2+TQ>=V32+42=/25=5cm




XY =XK +KY=10+8=18 cm

38.

(i) TR & T Fedt = 13+18+12+11= 54

UFHTH § FeT AT qgierdt =36
USRI H AT ASordl =54- 36 =18
3feohel ARUTHATRT FEaT 18

o7 TR GROTH A HEar 54

quﬂﬁﬁéw

HTST HAT o I 6l ITTehdT = =—=

.. v c hEﬁ' Eﬁ' o _
(il ) FATALZTA HS T ol A hl T S

(iii) (a) ‘T’ TEAT o AT T TTAHRAT=

T FATAT TLOTTHT T FeTT




TTFA AOTHAT HST 13
o HATTAT TrorEt i gear 04

T AT o6 A Al TTAHAT=

(iii) (b)USTST 3T FATALGIA AR T Thl Fof H&IT= 18 +11 =29

. o e o o 29
TS A& AT AT FATALG I HGeAT ol I ol TRFAT= o

T g1 U el 37T F &1 FATag 1 HSeAl hl I i TTwdT=

=1- TSI HSAT AT FATALGIH TG AT bl A o0l FHHLT: AT
29 25

54 54




